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Based on the graph, which of the following is a valid conclusion? 

A. As the degrees below freezing increases, the number of hot chocolate beverages sold decreases. 

B. As the degrees below freezing increases, the number of hot chocolate beverages sold increases. 

C. As the degrees below freezing increases, the number of hot chocolate beverages sold stays the same. 

D. As the degrees below freezing decreases, the number of hot chocolate beverages sold decreases. 
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Which statement about the data is correct? 

A. The interquartile range of the data is 10 

B. The range of the data is 16 

C. The first quartile of the data is 17 

D. The third quartile of the data is 24 
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Based on the box-and-whisker plot, which statement about grades is most likely true? 

A. Between 64% and 80% is one-fourth of the data. 

B. Between 72% and 84% is three-fourths of the data. 

C. Between 72% and 84% is one-half of the data. 

D. Between 80% and 98% is one-fourth of the data. 
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The spinner is spun twice and the product of the number in the sections where the arrow lands is calculated. 

What is the probability that the product of the numbers is odd? 

A. 
9

25
 

B. 
16

25
 

C. 
1

2
 

D. 
4

25
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Based on her results, what is the experimental probability that the puppy will be named Sparky or Solomon? 

A. 
7

25
 

B. 
11

50
 

C. 
13

50
 

D. 
21

50
 



 

 


